E W OB F E

T % 4 HFH/NFEREFMLSE R O T 5
i T %5 Bt Wt ERE Yy E+THS—2
T i SERR304E12H 10 73 SF24E10H31H T

KR O YRR (LB L O R 2O SMEERHIE OB 28 5, i 8 )i DL — M

JIIN E\
2z R TS O U7 5 2 o B S )
Iﬂ}]’ﬁﬁ(]ﬁﬂ}]ﬂ{%/\%ﬂZE?H 13ASST24E10H 31 HICAHE)

e & &k (1) T % ffi #% (M) GEGEEEL I()
LY 962,943,120 891,614,000 (A) 71,329,120
28 R A 983,584,080 910,726,000 (B) 72,858,080
ERIES D] 905,904,000 838,800,000 (C) 67,104,000
ALk 925,680,900 (F) 856,779,000 (D) 68,901,900 (E)
HEA AR 19,776,900 17,979,000 (G) 1,797,900
Gz (B) x (C) + (A) = (D) <R DT TFHIED - FHL P OHET>

(C) X0. 08+(G) *0. 1= (E)
(D) + (E) = (F)

(D) = (C)=(G)



2 BENMNEREFGILELIERUVEETSE KAER (BEED No. 1
ERETZE EAl HREEFER e
34 L 3- & 1ﬁ;i =
# H W= I &4 g BE B g | EOEEE WS
[ERZAR %
I #ETHE = 525,421,726 = 531,656,309 6,234,583 HE%H
| s L =X 69,583,874 = 71,601,714 2,017,840 Hi%E
I0| el T4 =X 110,329,002 Y 110,329,002 0
RN X 705,334,602 713,587,025 8,252,423 HE%H
HE
I| sk = 33,146,587 Y 36,046,049 2,899,462 HI%E
0| B5E e =X 63,044,073 = 69,329,265 6,285,192 H4%H
— R R 2y 90,089,512 X 91,764,265 1,674,753 HE%H
BiSTE 186,280,172 197,139,579 10,859,407 H4%H
&t 891,614,774 910,726,604 19,111,830 H4%H
Xt aKE (T FHmg) SREEST 11U e 891,614,000 910,726,000 19,112,000 Hg%H
(LI OB 2 0 )
THE B Y%A 71,329,120 72,858,080 1,528,960 |Hg%H
waet (LFEE) 962,943,120 983,584,080 20,640,960 HE%H




2 BENMNEREFGILELIERUVEETSE RKWERTHA No. 2
ERETZE EAl HREEFER e
34 L 3- & 1ﬁ;i =
# H W= I &4 g BE B o | EUHEEE RE
[ERZAR %
| #%ETHE 2V 291,556,926 =Y 325,069,786 33,512,860 HE%H
| s L =X 33,398,746 = 35,636,059 2,237,313 H4%8
I0| el T4 =X 20,980,835 Y 20,980,835 0
RN X 345,936,507 381,686,680 35,750,173 Hg%H
HE
[ HmGes =X 17,482,929 Y 21,002,820 3,519,891 H9%E
0| B5E e =X 32,540,696 = 39,565,308 7,024,612 HE%E
— R R 2y 44,585,108 X 49,083,607 4,498,499 HEEH
BiSTE 94,608,733 109,651,735 15,043,002 Ha%H
&t 440,545,240 491,338,415 50,793,175 H4%E
Xt aKE (T FHmg) SREEST 11U e 440,545,000 491,338,000 50,793,000 HE%H
THE B Y%A 35,243,600 39,307,040 4,063,440 HE%H
waet (LFEE) 475,788,600 530,645,040 54,856,440 HE%H




2 BENMNEREFGILELIERUVEETSE RINER2ER No. 3
RETEEA] RETERR -
34 L 3- b= 1ﬁ;i =
# B W= I T S I T o | EVVEAE WE
[ERZAR %
| #%ETHE 2V 233,864,800 =Y 206,586,523 -27,278,277 J8i%H
II| EXEE LS =Y 36,185,128 = 35,965,655 -219,473 JZE
I0| AR T2 Y 89,348,167 = 89,348,167 0
ERCERER ¢ 359,398,095 331,900,345 -27,497,750 JREE
Him
[ Jamfaks = 15,663,658 = 15,043,229 -620,429 JE%E
| BUGEsE = 30,503,377 = 29,763,957 -739,420 JHE
e X 45,504,404 = 42,680,658 -2,823,746 J%H
FamE 91,671,439 87,487,844 4,183,595 %
&FF 451,069,534 419,388,189 -31,681,345 Jk%HE
XA RE (L Hm k) TG0 451,069,000 419,388,000 31,681,000 J%H
TH B Bl S AH 24 %R 36,085,520 33,551,040 2,534,480 JREH
wER (LFEE) 487,154,520 452,939,040 -34,215,480 JREE




2 % FERINEREEDIELHERVEEISE [hAIER]) No. 4
TEEEE TEEEE —
# H "= BE  EE B 2% HE  HE B 3 | SOERE RS
A |18I=E
A—1|efETE (1) = 153,536,198 = 186,903,318 33,367,120 i%%
A—2(MEE T (18) = 138,020,728 = 138,166,468 145,740 i’%%ﬁ
&3 291,556,926 325,069,786 33,512,860 i%%




2% BTEREIMNEREFGILEHERUVEBEIER [(FRHER] No. 5
RETEEAT RETERR o
1EiEEE
# H "= g B B s g B B o | EUEEE WE
A1 |BIETE (188)
A-1-D b=tk E T3 1 K 121,343,060 1 XK 127,701,943 6,358,883 |HA%H
A1) |IR B RE R B s T8 1 =& 6,761,337 1 = 6,761,337 0
A-1-3) | FRAH s TR 1 K 553,083 1 =X 553,083 0
A-1-4) [FMB e T F 1 = 24,878,718 1 = 19,682,138 -5,196,580 JHZHE
B—4|M#=EMSETE 1 3K 0 1 K 32,204,817 32,204,817 |HE%H
&t 153,536,198 186,903,318 33,367,120 |HE%H




2% BTEREIMNEREFGILEHERUVEBEIER [(FRHER] No. 6
REtEER RETEFR .
1EiEEE
# H "= g B B s g B B o | EUEEE WE
A-2 |BEETE (18))
A-2-1) | TR sE T 1 ==X 133,976,414 1 =K 134,122,154 145,740 HE%E
A-2-2) |EV R T 34 T 1 = 893,678 1= 893,678 0
A-2-3) |TEVEE F A T3 1 =X 1,575,023 1 XK 1,575,023 0
A2 | IR B RE R/ S R RS T 1 =& 1,575,613 1 = 1,575,613 0
Gt 138,020,728 138,166,468 145,740 H8%E




2% FBREIMNMREFGERERVIEETSR [ AER] No. 7

B H BB | oy wg o owE sm | mE wm o owm | e | EOMAE W3
B |2HAT =
B—1|ckf& T (23)) 1 KL 145,385,021 1 K 145,385,021 0
B— 2|5 T (24)) =V 22,444,960 1 X 22,444,960 0
B— 3| E Gk e T 1 K 38,756,542 1 K 38,756,542 0
B—4|F#EMLE TF 1 K 27,278,277 1 K 0| -27,278,277 JB%HE

At 233,864,800 206,586,523| —27,278,277 J%HE




2% BTEREIMNEREFGILEHERUVEBEIER [(FRHER] No. 8
REtEER RETEFR a3
# H L Y AT 28 | BB  EE M e | FUHEEE RE

B—1|2IEITE (287)

B-1-1) | = M E T8 2V 140,695,601 oy 140,695,601 0

B-1-2) | i BRAgUEE Lo T X 260,201 =K 260,201 0

B-1-3) [ & T3 = 4,429,219 = 4,429,219 0

At 145,385,021 145,385,021




2% FBREIMNMREFGERERVIEETSR [ AER] No. 9

REtEER RETEFR a3
# H L Y AT 28 | BB  EE M o | EUEEE WE
B—2|METE (28)
B-2-1)| FEMIEETH 1 =X 22,444,960 1 XK 22,444,960 0

it 22,444,960 22,444,960 0




%2 % TRIMNEREFHIELHERVEETIS (CETES ) No. 10
BN el e ¢
' H m = g [WE| sa | &8 g wn o wm  ew | TERE W3
A--D| LB ERSUE LS
1 |EERER T 1 KX 6,581,474 1 X 6,581,474 0
2 (BhiKkdE T 1 K 15,675,981 1 K 15,675,981 0
3 [HhEELLE T 1 X 3,891,561 1 =X 12,311,450 8,419,889 HY%E
4 (BESUETF 1 K 45,253,021 1 K 45,253,021 0
5 |(PNEEcfE T 1 20,906,728 1 =X 18,845,722 2,061,006 JZE
6 [r=yMLOEDOM TH 1 X 24,958,462 1 =X 24,958,462 0
T (ke T 1 K 749,390 1 X 749,390 0
8 [MIRE T 1 X 2,338,709 1 K 2,338,709 0
9 |fiETE 1 =X 950,598 1 K 950,598 0
10 |F&AEM Sy 1 K 37,136 1 K 37,136 0
N 121,343,060 127,701,943 6,358,883 Hy%E




& W FEENEREFGIERIERVIEETSE [ 1 o R A ) No. 42
DT Ra RAERE on
# H "= g B B s g B B o | EUEEE WE
AR BEEEERETIS
1 [EEAGEE TEF 1 =K 252,742 1 =K 252,742 0
2 |(BEKEILE 1 = 6,456,632 1 =X 6,456,632 0
3 |WiETLE 1 =K 108,672 1 =X 108,672 0
4 |G 1 =X -56,709 1 = -56,709 0
/NEF 6,761,337 6,761,337 0




2 M FTERNMNEREFEGERERVEETISE [ 1 BEEmE] No. 50
RETEHAI RETEERE g
# H "= g B B s g B B o | EUEEE WE
A BEEBERETISE
1 [EEAGEE TEF 1 =K 49,000 1 = 49,000 0
2 |[PikfEILE 1 = 177,512 1 =X 177,512 0
3 |hEELE TS 1 =K 136,400 1 =X 136,400 0
4 |EAUELHE 1 = 30,800 1 =X 30,800 0
5 |HRIRCE .5 1 =K 42,581 1 = 42,581 0
6 [ELE 1 =X 127,411 1 = 127,411 0
T |BEER Y 1 =K -10,621 1 =X -10,621 0
INEE 553,083 553,083 0




2% BTEREIMNEREFGILEHERUVEBEIER QY No. 58
EREE L] EREL L .
# H W= g B B s g B B o | EUEEE WE
A--OSMESE T E(1 H)
VI i 1 =X 2,500,864 1 = 2,500,864 0
2 |AREEK I 1 =X 5,653,881 IV 5,653,881 0
3 |PHRE 5 1 X 506,020 1 =K 506,020 0
4 ot T/EY T 1 =X 9,035,872 1 = 5,238,072 -3,797,800 JAHE
5 |FEFk LE 1 =K 3,957,000 =Y 3,957,000 0
6 [fiETH 1 =K 2,422,325 1 = 1,308,665 -1,113,660 J5i%E
T |BEER Y 1 = 802,756 1 3K 517,636 -985,120 Jg%HE
INE 24,878,718 19,682,138 5,196,580 Jk%E




2% BTEREIMNEREFGLEHERUVEEISR GEEELD No. 67
RETEEAD REATERR st
2 A BB | we sp Em e g s BE  eg | coreee WE
B-4 | ERIUSITE
1 [EEAGE TEF 1 =K 3,286,163 1 =K 3,286,163 0
2 |BEMG BikdETHE 1 =K 5,030,878 1 = 5,030,878 0
3 |EE=EMO ShEEdE T 1 =K 4,212,200 1 = 9,138,740 4,926,540 HE4%E
4 |HB=EMG FEAEKETE 1 KX 11,181,680 1 =X 11,181,680 0
5 |HEHO BEKETLE 1 =K 2,027,915 1 =X 2,027,915 0
6 |fiE-0sy 1 =K 1,539,441 1 =X 1,539,441 0
EFF 27,278,277 32,204,817 4,926,540 Hi%E




%2 BTREIMNEBRRFEGILHERUVIEEIE [ 1 #ehpEk) No. 80
EEN I - =L R £
 H B B | ws wm  we | 5w g wn o wm  aw | EERE #3
A-2-)|HERRIBET $
1 [EE R T 1 K 3,763,140 1 K 3,966,480 203,340 H9%E
2 |[+TE 1 K 1,297,635 1 3 1,297,635 0
3 |MEETE 1 K 4,463,320 1 KX 4,405,720 -57,600 J4E
VO VR 1 K 6,472,600 1 3 6,472,600 0
5 | E 1 K 3,508,290 1 K 3,508,290 0
6 |Em L 1 K 3,810,170 1 3 3,810,170 0
7T |gkELE 1 K 17,068,051 1 K 17,068,051 0
8 [BEHla s T EH 1 K 19,664,248 1 3L 19,664,248 0
9 |BAikILE 1 K 4,987,811 1 K 4,987,811 0
10 |ZAVT5H 1 K 87,437 1 3 87,437 0
11 [ KT 1 KX 499,082 1 KX 499,082 0
12 [BREOENWTHE 1 K 3,652,215 1 3 3,652,215 0
13 |4 1THF 1 KX 13,031,891 1 K 13,031,891 0
14 |[EETEHE 1 K 1,676,175 1 K 1,676,175 0
15 (@R AT 1 K 20,364,000 1 K 20,364,000 0
16 [fH¥ L5 1 K 6,787,356 1 K 6,787,356 0
17 |@dETEHE 1 KX 495,788 1 KX 495,788 0
18 [NEETHE 1 K 7,461,507 1 K 7,461,507 0
19 |2=y R OZOfll T3 1 KX 14,242,198 1 K 14,242,198 0
20 |FEAEFLLSY 1 K 643,500 1 K 643,500 0
/NEE 133,976,414 134,122,154 145,740 H4%E




2 FRIAEREFMLRERVEEIS (MR YET3] No. 121
B H W= ¥ THE] i | & g mn o wp | e | EOERE w3
A-2-2)EYER FIEETE
1[BBG T 1 X 44,317 1 =X 44,317 0
2 |t 1 KX 106,165 1 X 106,165 0
3 [T HE 1 X 1,600 1 =X 1,600 0
VI V7R N e A 1 3K 33,606 1 =X 33,606 0
5 |AMET 1 X 47,190 1 =X 47,190 0
6 |Ekh T 1 3K 21,240 1 =X 21,240 0
7 |gETLE 1 X 395,727 1 =X 395,727 0
8 Bk = 1 KX 1,554 1 K 1,554 0
9 |BARKUEWIHE 1 X 148,611 1 K 148,611 0
10 |BETHE 1 3K 90,896 1 =X 90,896 0
11 | FAEM I 1 K 2,772 1 = 2,772 0
N 893,678 893,678 0




2 % FTRBINEREFMLRERVIEETIE (1 MEYET4] No. 134
B H " = ¥ THE] i | & g mn o wp | e | EOERE w3
A2-3EYBTMEETSE
1[BBG T 1 X 62,511 1 =X 62,511 0
2 | tIEE 1 3K 61,924 1 =X 61,924 0
3 [T E 1 X 10,380 1 =X 10,380 0
4 |- bTE 1 KX 153,151 1 X 153,151 0
5 |AMET 1 X 170,412 1 =X 170,412 0
6 |Ekh T 1 3K 88,180 1 =X 88,180 0
7 |gETLE 1 X 523,265 1 =X 523,265 0
8 Bk = 1 KX 1,776 1 K 1,776 0
9 |BARKUEWIHE 1 X 202,593 1 =X 202,593 0
10 |&ETE 1 X 163,500 1 X 163,500 0
11 |EELE 1 =K 10,551 1 K 10,551 0
12 [B3ET 1 =X 119,054 1 X 119,054 0
13 |[fiETEH 1 K 3,326 1 = 3,326 0
14 AT 1 K 4,400 1 K 4,400 0
/NeE 1,575,023 1,575,023 0




2% BTEREIMNEREFGILEHERUVEBEIER (1 B R A ] No. 150
B H W= ¥ THE] i | & g mn o wp | e | EOERE w3
A0\ A BEEEI P EIEET E

1[BBG T 1 X 9,842 1 =X 9,842 0
2 |tIEE 1 3K 42,576 1 =X 42,576 0
3 [T E 1 X 2,800 1 =X 2,800 0
VI V7R N e A 1 3K 94,929 1 =X 94,929 0
5 |AMET 1 X 54,450 1 =X 54,450 0
6 |Ekh T 1 3K 65,780 1 =X 65,780 0
7 |gETLE 1 X 601,689 1 =X 601,689 0
8 |4 L 1 =X 578,322 1 =X 578,322 0
9 |EELEHE 1 K 66,703 1 K 66,703 0
10 |BETHE 1 3K 1,072 1 =X 1,072 0
11 |NAME TR 1K 50,916 1 =X 50,916 0
12 | ARy 1 K 6,534 1 =X 6,534 0
/e 1,575,613 1,575,613 0




£ "\ ERNERREGIEHERVIEETIS (28 hHEEESG No. 156

& i i B O By B ff & #

B-1-1)|hHEHHIELE
1 |EHRE L 1 XK 11,392,729
2 |BiksETLE 1 K 18,440,644
3 |MEESE T 1 K 5,891,692
4 |[BREUETE 1 K 26,107,598
5 |NEEIETE 1 K 23,912,153
6 [t=wvhROEOMTEH 1 3K 36,391,014
7 |BEIETE 1 K 1,888,240
8 |M{RAIAE T 1 K 1,585,463
9 |#WEI=E 1 3K 14,539,681
10 [FEAMNSY 1 =K 546,387

&t 140,695,601




% FREINEREFGIERERUBETSE (28 BEHRE] No. 200
4 i3] == B B Oh ) fii
B-1-2) | EEFEERETSE
1 |#EK&ETE =X 258,376
2 |WETE =X 3,732
3 |RAEMNS =X -1,907
it 260,201




& FRNEREFHILBERVIEETE (287 4}4E] No. 204
£ L7 & = B B BifsT Bl & % i

B-1-3)| sMERIETH(I H) FREREY

1 |&ET=E 1 XK 1,145,250

2 |HEKITE 1 XK 1,465,651

3 |FOMTIEYM THE 1 3K 717,487

4 |[WEIEFE 1 3K 770,905

5 |FAEMLLy 1 3K 329,926

o
‘E\&

4,429,219




2 FERIMEREFEGILBERVIEETSE (28 TREHIEE] No. 211
1 Fh 15 Bifs B i %8 1]
B-2-1)| TRBIEETSE

1 |ERHER T E2u 555,667
2 |LT=HE E2u 498,800
3 |HuET=E E2u 94,240
4 |avm-rTE E2u 1,204,591
5 |EieTEH E2u 662,929
6 (BT E2u 589,480
7 |gETEH E2u 2,917,060
8 (Bl )L T E2u 916,520
9 [BAikIE E2u 67,666
10 |ZAVITE = 346,301
11 | AT E2u 34,496
12 |BREREUEVIE E2u 2,277,720
13 |&RTH E2u 5,778,896
14 |EELE E2u 483,322
15 |&REEATHE E2u 2,616,000
16 |fHFLE E2u 150,840
17 |@iETHE E2u 43,208
18 |PNiELHE E2u 878,198
19 |2=ohNEOZEOMTE E2u 2,312,790
20 | RS = 16,236

A&t 22,444,960




& FERENEREFMILBERVEETS (28 smEmisakis] No. 235
£ R 1% E:3 = | B B ) ]
B-3 [FRFEIGHIETE
1 |EE R LE 1 X 1,581,404
2 |ET= 1 X 408,857
3 |HiET=E 1 X 201,560
4 |k L= 1| X 412,720
5 [=v2y-b 1 X 871,830
6 |AM L= 1| X 152,440
7Bk 1| X 114,840
8 [AL=HE 1 X 9,647
9 [BARL=F 1| X 1,398,033
10 |&E1LF 1 X 8,111,102
11 |EETHE 1 X 1,166,460
12 |EtETH 1 X 10,917,806
13 |BETHE 1 X 829,639
14 [P ETE 1| X 5,480,550
15 |2=yb L 1 X 1,994,713
16 |SME L 1 X 2,208,374
17 k-5 1| X 2,896,567
= 38,756,542




% B BN RFFALSUE K OPEEE T NO 2
4 " BEEACE] EEE T
& i & B Al &
A | THTH
A-1 (bR 1 K 11,827,059 =X 11,827,059 0
A2 [EERR (FEEEE ) 1 K 6,967,749 F2V 6,967,749 0
A-3 | PR 1 X 4,069,471 = 4,069,471 0
A-4 [IREHH 1 =X 163,466 F2V 163,466 0
A-5 |24 1 =X 5,958,062 oy 7,975,902 || 2,017,840
i 28,985,807 31,003,647 || 2,017,840
B |O#T5
B-1 | &= IR 15,436,439 =X 15,436,439 0
B-2 | (HE L 4)) 1 K 185,380 = 185,380 0
B-3 |FE M 1 K 428,242 =X 428,242 0
B-4 | M- JEV R T (SME) 1 K 219,473 F2V 219,473 0
B-5 |=4h 1 =K 3,923,324 oy 3,923,324 0
at 20,192,858 20,192,858 0
C |kEHH
C-1 [REHREIE 4,412,939 4,412,939 0
& 4,412,939 4,412,939 0




£ B H RN EFMESE R OEE T F NO 3

B L] A EH AT
4 i 1§ % S T S5 MK
OB OHEAT OB 6 & I & ¥ B fE &
D [t
D-1 [fa A& 1 iy 15,992,270 || 1 2y 15,992,270 0

i 15,992,270 15,992,270

op
T
+

69,583,874 71,601,714 2,017,840




% B BN RFFALSUE K OPEEE T NO 4
% i ) 32 AT PR 725 | MR
BOEAL OB & M (B & B Bl &
A [THITE
A-1 | HER
1 |EATRH LEE T Hr R IRE: 1,348,600 1 K 1,348,600 0
2FLT 57 IRV 6,092,967 1 K 6,092,967 0
3ar UMyl IV 1,291,580 1 K 1,291,580 0
2 | OB 1E MR 1 K 688,255 1 K 688,255 0
3 TR 1 K 85,950 1 K 85,950 0
4 |BEFE R IRV 523,420 1 K 523,420 0
5 7L EIEISA(E R IRE: 677,705 1 K 677,705 0
6 [ SEERENFR IRV 900,582 1 K 900,582 0
7 |BHAOAGE R i IRE: 218,000 1 K 218,000 0
& 11,827,059 11,827,059 0
A-2 |HEERR
1 BT LEET s IRIE: 4,421,429 1 K 4,421,429 0
27 B Moyl 1K 590,890 1 K 590,890 0
2 |G HE(E MR I 1 =X 374,620 I 374,620 0
3 |IE R I 38,200 1 K 38,200 0
4 | PR R IV 385,940 I 385,940 0
5 |ehE R 1 =K 113,350 1 X 113,350 0




£ B H RN EFMESE R OEE T F NO 5

% i ) 32 AT PR 725 | MK
¥R HEAL OH H & M (B & B Bl &
6 |7 LB IESAE R IV 172,980 1 K 172,980
7| KSR P 1 K 870,340 1 =X 870,340 0
i 6,967,749 6,967,749
A-3 B BRI
1 [BEFA A IRV 1,761,514 1 K 1,761,514 0
2 | 1 =K 157,330 1 K 157,330 0
3 |FLEHEIZE R 1 K 275,923 1 K 275,923 0
4 (K SHREER A IE: 1,874,704 1 K 1,874,704 0
7 4,069,471 4,069,471 0
A4 IR EEE
I BTN 1 =X 13,858 1 K 13,858 0
2[R ORI A IRV 149,608 1 K 149,608 0
& 163,466 163,466 0
A-5 | R4t
1 [FENECERR IRV 5,751,339 1 K 7,769,179 || 2,017,840
2 PSSR IRE: 206,723 1 K 206,723 0
3 5,958,062 7,975,902 || 2,017,840




% B BN RFFALSUE K OPEEE T NO 6
% i ) 32 AT AR 725 | MR
BOEAL OB & M (B & B Bl &
B |I#T5
B-1 | &=
1 BT LEEAT 3l IE: 8,413,648 1 K 8,413,648 0
27U Myl 1K 2,029,671 1 K 2,029,671 0
2 |G HE(E MR I 1 =K 877,570 1 K 877,570 0
3 |1E R 1 K 157,002 1 K 157,002 0
4 PR R IV 1,147,322 1 K 1,147,322 0
5 |ehE R 1 =K 145,166 1 K 145,166 0
6 |7 LIS AE IV 1,368,029 1 K 1,368,029 0
T KSR i IRV 1,047,031 1 K 1,047,031 0
8 |BHAL AR H R A IE: 251,000 1 K 251,000 0
it 15,436,439 15,436,439 0
B-2 | (AL Y)
1 BT LET e IRE: 181,960 1 K 181,960 0
27U Myl 1 K 3,420 1 K 3,420 0
7 185,380 185,380 0




4

FH/ NP R FmLUE R O T NO 7
% P i G2 AT AR 725 | MR
¥R HEAL OH H & K %M & AL OB &
B-3 | R
IO BN IRV 325,874 1 K 325,874 0
2 | KRR i 1 =K 102,368 1 K 102,368 0
it 428,242 428,242 0
B-4 |F#E - JEVER T (SMEE)
1 (FEAT R 1 =X 219,473 1 K 219,473 0
it 219,473 219,473 0
B-5 | B4+
1 [FENECERRES X 1,593,744 1 K 1,593,744 0
2 |[HENE(EHE 2V 2,329,580 1 K 2,329,580 0
at 3,923,324 3,923,324 0
C |AEELED(LUE T%
C-1 |IKEHH
LT R =X 4,412,939 1 K 4,412,939 0
7 4,412,939 4,412,939 0




% B BN R FFALSUE K OPEEE T NO 8
% i ) 32 AT PR 725 | MR
BOEAL OB & % HAL B Al &

D |fafif
1 [WENECERR S RN L5 R4 1 K 2,935,394 =X 2,935,394 0
2 |HEPIEIE PR I L =04 1 X 403,344 =X 403,344 0
3 | ER N L R4 1 K 58,860 X 58,860 0
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